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Solve Problems

Represent the problem  Emily, Ben and Nisha collect money
for charity.

e Drawin
_ J Emily collects £2.75 more than Nisha.
* List Ben collects £15.

e Table Nisha collects £7 less than Ben.
Altogether how much money do the
three children collect?

e Number sentence



Solve Problems

Represent the problem
* Drawing

e List

e Table

e Number sentence

Ben =£15

Nisha = £15-£7

Emily, Ben and Nisha collect money
for charity.

Emily collects £2.75 more than Nisha.
Ben collects £15.

Nisha collects £7 less than Ben.
Altogether how much money do the
three children collect?

£15

£ 8
+ £10.75

Emily = £8 +£2.75
| £33.75 L "
ancashire



A torch costs £7.65.
Kate buys a torch and two batteries.
She pays £8.75 altogether.

How much does one battery cost?

£7.65 £? | £7.65+72=£875
£8 75 ? — 2 = answer
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£8.75 - £7.65 ~ 2 = £4.925
(£8.75-£7.65) =~ 2 = £0.55
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67832 + 5258 834501 — 193642




MO'IRge 124

Copy and complete.
@ 555 © 437

+ 249 — 186
659 & 293

+ 278 G ZS
871 &5 359

—+ 685 = 268
1654 © 565
el 927 — 437

2087 € 681
-+ 359 — 394

: SeLtl out correctly and work
out. :
&€ 364 + 186 ;
&2 . BC + 275
@ o047 + 593
@ 1368 + 467
@ 4923 + 95-8
@ 724 — 255
& 36 289
P 953 — 564

P 23— 1-78

€ 872 — 3-17

T
gDID)’ and complete. ge the above standard;
4287 e 4160 method to work out. .
+1946 —2381 € 3486 + 1957 =
€ 12385+ 7850
€& 23408 + 15473
@ o748 + 2976 ‘
&> 5839 - 7794

3649 & 6315
+1578 — 3678

as64 € 5873
+2788 —4132

6478 €D 3140

+71957 —2753
& 5895 Z522 &

+2578 - Soaz

Set out correctly and work



' A four bedroom house costs £E450,000
A three bedroom house costs £199,000 less.

How much does the three bedroom house cost?
What method did you use to find the answer?

.’ Calculate the missing digits. What do you notice?

5 2 2 4 7 7
+ 3 7?7 5 9 0 4
9 0|7 3 7?7 2






